[image: image1.png]


Module 2 Topic D Quiz
Two and Three-Digit Measurement Addition Using the Standard Algorithm
Name____________________#_____ Date_________
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Constructed Response Question
 Directions: Write your answer to the questions in the spaces provided. This question has more than one part. Be sure to show all of the work you do to find your answer. Even if you cannot answer all parts, answer as many as you can. You may get points for answering part of a question. Write your answers clearly.
The liquid volume of all the third grade teachers’ drinks is found below.  
	Teacher
	Liquid Volume

	Mrs. Landry
	125 mL

	Mrs. Hidalgo
	236 mL

	Mrs. Latiolais
	248 mL

	Mrs. Waguespack
	174 mL

	Mrs. Lasseigne
	208 mL

	Mrs. Leblanc
	114 mL

	Mrs. Ledet
	212 mL


Part A Mrs. Leblanc and Mrs. Latiolais combine their drinks.  How many milliliters do they have together?
Mrs. Leblanc and Mrs. Latiolais have ______ mL together.

Part B Mrs. Waguespack drank her drink and she drank Mrs. Landry’s drink.  How many milliliters did she drink?

Mrs.  Waguespack drank ____mL.
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Constructed Response Question
 Directions: Write your answer to the questions in the spaces provided. This question has more than one part. Be sure to show all of the work you do to find your answer. Even if you cannot answer all parts, answer as many as you can. You may get points for answering part of a question. Write your answers clearly.
Mrs. Ledet collects the following information about her cats, Cinderella and Belle.

Part A) Estimate the total weight of Cinderella and Belle.
Part B) What is the total weight of Cinderella and Belle.

Part C)  Estimate the amount of time the two cats spend napping in all.

Part D) What is the actual amount of timd the two cats spend nappin in all.  

Directions:


Circle the letter to the correct answer. Read the questions carefully.  Think and work out the problem before marking your answer choice.








1) Find the sums below.  Make sure to show your work.  








A) 46 mL + 5 mL			B) 47m + 8m=			C) 345 g + 294 g =























___________			____________			______________





3) A milk carton holds 183 mL more liquid than a juice box.  If the juice box holds 279 mL, what is the total capacity of the juice box and the milk carton?





A) 462 mL


B0 645mL


C) six hundreds 45 ones


D) four hundreds 2 ones





2) Rachel and Amanda buy a small bag of chips and a soda at the movie theatre.  The chips weigh 44 grams.  The soda weighs 63 grams more than the chips.  What is the weight of the soda?





A)1 hundred 7 ones


B) 1 ten 7 ones


C) 107


D) 106








3) What is the total number of sides on 8 triangles?





		


A. 24


B. 3


C. 16


D. 8











2) There are 4 pepperoni slices on each personal pizza.  How many pepperoni slices are on 9 personal pizzas?





A. 13


B. 36


C. 4


D. 32








Person�
Liquid volume�
�
Jason�
475 mL�
�
Andrea�
317 mL�
�






4) At breakfast Jason and Andrea found the total liquid volume of milk in their cereal bowl.  Jason says the total is 783 mL, but Andrea says its 792 mL.  The amount of milk in each bowl can be found in the table to the right.  Whose calculation is correct?  Explain the mistake of the other person.














_____________________________________________________________________________________________________________________________________________________________________





6) How many minutes does she jog in total? 





A) 6 tense 7 ones


B) 57


C) 67


D) 5 tens 6 ones





Use the information below to answer questions 5 and 6. Each question has two answers.





 Emily jogs 15 minutes more on Sunday than Saturday.  She jogged 26 minutes on Saturday.





5) How many minutes does she jog on Sunday?  





A) 41


B) 42


C) 10+31


D) 31





Belle�
�
Weight�
Time Spent Napping�
�
27 kg�
36 minutes�
�






Cinderella�
�
Weight�
Time Spent Napping�
�
15kg�
25 minutes�
�









